Lingen umwandeln 1

Tkm = 4000 m
2 km = _Zce0 m
3 km = 3o m
t km = Yoo m
5 km = Soewo m
Tm = A0 dm
2m = 20 dm
3m=_20 dm
b m=_ 4o dm
5m=_580 dm
Tm 3dm = A3
b m 6 dm = 46
fm3dm=_43
5m2dm=_S2

dm
dm

dm

Om2dm=_92 dm

6l = e
7 km = Foo

8 km = Qoo m

9 km = Yoo

10 km = Aococo

6 m = 60 dm
fm=__%O dm
&8m=_80 dm
Am=_90 dm
0V m-= #A© dm
23 mbtdm = 224
3 m 8 dm = 138
L3 m 6 dm = 426
8 m2dmn=_ 18
89 m 1dm = 88U
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Lingen umwandeln 2

[
Tm = ACD  cm 6 m = Goo  cm
2m= 200 cm fm= Jco cm
3m= o0 cm Em = 8o  cm
L m = 40 cm O9m = qQco cm
5m= SO cm MV m= ~Axo cm
Tm2dm = A0 cm bm2dm = 6z cm

2m3dm= 2% cm Fm8dm=_430 cm
3m2dmn=_320 cm EmZdn=_8k cm
b m1dm =440 cm O mbdmn=_ Fo  com
5m3dn= S¥®L cm Em2dn=_%20 cm

Tm 3dm 2 cm = A2  cm
L m7Zdm 9 cm = 439 cm
E8m2dm 7 cm = 82% cm

O9m 3dm 7 cm = N cm
b m6dn 9 em = 469 cm

5m9cem = So cm 8m2cm=__802 cm
8m b cm = 04 cm 6m3cm = 6o} cm
b m7Zcom = 40%* cm L m 3cm = 4o cm
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Lingen umwandeln 3

Tm = Aoceo

2m = Je0

mm

mim

3m=_2m0 mm.

b m = 4oeo
5m=_&SxO
2dm = 2o
3dm = 2o
2dm = Zoo
Tdm = A=

mm

mm

mm

mm

mm

mm

3dm = 200 mm

Tm = 1000 mm
1dm = 100 mm

Tem = 10 mm

6m=_Goo mm,

fm= Fao mm.

8 m= 8o mm

O9m=_ Q9o mm

10 m = 40600 mm

2dm = __ 200 mm

8 dm = _ &o mm

fdm = Jo mm

b dm = 4o mm

2dm = o mm.
mm 5dm 1ecm = _Sto mm
mm O9dm 2 em = 9% mm
mm 3dm 8 cm = _5%%0 mm
mm Fdm 9 em= I mm
mm 1dm 2 em = _AZ20  mm

mm = ST5 mm

mm = XY mm
mm = Q72¢  mm
258 mm

3dm 2 cm = 320
fdm 9 em = o
2dm #cm = 230
3dm Zem = 3R
6 dn 9 cm = 69
5dm 9 cm 3

3dm 2 cecm 1T mm =
7 dm 3 cm 2

9dm 2 cecm 5

2dm 5 em 3 mm =
6dn 3 ecm 9 mm =

www.fraumohrsrasselbande.at

S 24 mm

633 mm

www.getschoolcraft.com




